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1 Which of the following is an antiaromatic compound?

e & @ 1 a1 U TS A 82

O CyclobutadienHTaiedCISIs

O CycloheptatriencHIgaaIgPICZT

O Cycloctatetraene (tub shaped)ﬂ]%ﬂ?ﬁﬂ%%@é:l CH & HTHR D)

O CyclodecapentacncHIgaaIS®IUT 5

O None of the aboveIWRIad & I Tﬁ'st EHi

Correct: +4
2 Which of the following is not true about hemolytic fission?
¥ fage & IR A Fafafed & & oF 91 o3 99 761 7
It takes place when two atoms are of similar g qd g1 g o d TRAN] 994 fdggd BondSBd &

electronegativity g3

O The products are free radicals3dTIg Jad TA® Bid g
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O It requires less energy than heterolytic fissiongd# fduH faga ! go- & &H ol Bt SHTARAHT B! &
O The products formed are ionss= aTdl TS 3 gl %

O None of the aboveIWIgd &§ I aﬁs‘ el

Correct: +4

(CH, ), C-Br —(CH,), C+Br-

3 The reaction, is an example of

T o (CH,),C-Br > (CH,), C+Br-

P17 AR ¢
O Homolytic fission¥H faga

O Heterolytic fissionfds# fage

O CrackingHdi=

O None of the aboveIURIad & I ?ﬁ'sc To!

O All of the above3IURIad gt

Correct: +4

4 A nucleophilic reagent must necessarily have

& TEER! ifets & savas U I g1 91T

O A lone pair of electronsScidci-l &I Udhd JH

O An overall negative chargeUd THY HUNHS AL
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O An unpaired electronUch Gﬂf[fﬁl—d sﬁﬂf;ﬁ

O More than one of the abovelIUdad & ¥ U ¥ 31

O None of the aboveIWIgd & I ?ﬁ—&p el

Correct: +4

5 Which of the following statements is false about an electrophile?

FATRFHE & IR A Fufifed & ¥ P 91 Sy Tad 82

O Electron — deficient speciesgaaci=-bHH! arelt Usiifdl

O An acidic reagentd 3{&i 3fpHb

A reagent which attacks on electron — deficient site in a T HfNHHD oIl 0] H Falae H-HH! aTel RIM TR gHAT

O molecule DIl %‘

O A species which seeks a pair of electronsUd USTIfd ol IAGEII Bt Udb JTH PI WIol Bl &

O None of the aboveIWRIad & I ?ﬁé T8l

Correct: +4

6 Shifting of electrons of a multiple bond under the influence of a reagent is called

fHHE F YU H TP 95 §Y & FaAac1 BT RIFIRUl HEArdl g

O l-effect]-9IHId

O M-effectM-UHId

O E-effectE-UHId
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O T-effectT-UHId

O None of the abovesTH q ®I Tal

Correct: +4
7 Hyperconjugation involves
siferdigm & wfte 8
O Delocalization of o—electrons into an adjacent n—bondo—%ﬁﬁ@'ﬁ BT 31— §¢ H faRITIHR0r
O Delocalization of —electrons into an adjacent T—bondn—Sdagi-l &1 AT n—a8 H [ARIFHROT
O Delocalization of m—electrons into an adjacent T—bondn—SddIl &1 3 -t H [ARIHIBIOT
O All are trueg I %
O None of the abovesH ¥ ®I5 ol
Correct: +4

8 Alkyl groups are o, p—directing because of
TePhIsdl T o, p— G Bid & b

O Inductive effectURfOre GG

O Electromeric effect3AagiNG THE

O Hyperconjugation effect3fugr TG

O All the threedHt
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O None of the aboveIWRIgd &§ I aﬁs‘ el

Correct: +4

9 Which one of the following is the correct order of decreasing stability of carboncations?

fRufefad # A o9 1 SEeARE B g fRRAT & 98 9 &2

O 1°>2°>3°>CH;y"

O 3°>2°>1°>CH;y"

O 2°>1°>3°>CH;y"

O 3°>1°>2°>CH;y"

O None of the aboves:rff I ﬁ'&f T8l

Correct: +4

10 Which of the following carbocations is most stable?

fafEd # ¥ S I SR go e wrht 87

O CH,CH,
O CH,=CH
O CHEE
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o CH;

O None of the abovesTH A @_5: gl

Correct: +4

11 Which of the following carbocations is least stable?

fRufefad # A o 1 FEteArE 999 $F Rl 872

O C,H,CH,

O p—NO,~C¢H,~CH,"

O p—CH;0-C¢H,~CH,"

O p-Cl-C¢H,~CH,"

O None of the aboves?ff I Tﬁ'ﬁf T8l

Correct: +4

12 ‘Which of the following represents the correct order of stability of carbocations?

fafifed § A S 91 SrefuarE & FRRA &1 98! 1 a2id 82

O (CH,),C>CH,=CHCH, >CH,CH, >(CH,) CH

O (CH,),C>CH.CH, >(CH,) CH>CH, =CHCH,
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O CH,=CHCH, >CH,CH, > (CH,),C>(CH,),CH

O (CH,),C>CH,CH, >CH, =CHCH, >(CH,), CH

O None of the above%ﬂ'ff I ﬁ'ﬁf T8l

Correct: +4

13 A free radical is a chemical species which is

o Teeh T IR Fellfal g it
O Electron rich but neutral%ﬁﬁ%jﬁ H& NIEERRRARI]
O Electron rich but negatively chargedScide ™ T clidh= BUNHD U I AR
O Electron deficient but neutralSeiagi= &1 HH! aTell aiich= SR
O Electron deficient but positively chargedSdacid &1 &H! ATl dfdh YATHD U Y SafRId

O None of the aboveIWIad & I BIs el

Correct: +4

14 Fufifad # Qo9 e 1fufhar &1t I g?

Which of the following is an example of elimination reaction?

O Chlorination of methane a7 T FARIIBI0T

O Dehydration of ethanol3AATd BT fsfeliRur
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O Nitration of benzenesSiId BT ASCRA

O Hydroxylation of ethyleneUf¥cilH &7 gTSS TdRIelIHUI

O None of the aboveIWIgd &§ I ?ﬁ—&p el

Correct: +4

15 Dichlorocarbene is generated by the action of potassium t — butoxide on chloroform. This is an example of

FARIBIH TR TIeRrm ¢-sgeiqurgs 31 a1 gRT SIEaaRIebIe 307 gidl ¢ | I8 SUHT U G160l 8

O a—Elimination reactiona~fa@g= sififear

O Pp-Elimination reactionp-faau= ififesar

O Addition reactiondRT&® 3ffHfepaT

O Rearrangement reactionmﬂ 3T

O None of the above3IURIGd H I Tﬁ—&p el

Correct: +4

16 Aromatic character of benzene is proved by

Joher &1 AT U Rrg ST ®

O Resonance theory3f-Te Rigid

O Aromatic sextet theory3Hfe® JRTee Rigid

O Orbital theorypefig Rigid
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O All of the aboveIWRIad G+

O None of the aboveIWRIad & I aﬂé B

Correct: +4

17 The kind of delocalization involving sigma bond orbital’s is called
Ry s e B M PR TS ARG B gl Sl §

O Inductive effectiRep UHTT

O Hyper conjugation effect3dagHA THTT

O Electromeric effectﬁﬂ@ﬂ% UHTd

O Mesomeric effectBqaRe JUTG

O None of the abovelIWRIdd T I aﬁé 8!

Correct: +4

18 The compound which contains at the four 1°,2°,3° and 4° carbon atoms is

TS 1°,2°,3° IR4° FETRAY A S, B e

O 2, 3—Dimethylpentane2, 3-SsHYTsAUeH

O 3—Chloro—2, 3—dimethylpentane3—aaRI-2, 3—SSfHUEAUCH

O 2,3, 4-Trimethylpentan2, 3, 4—@3&2’413?'@%7{

O 3, 3—Dimethylpentane3, 3-gTsfHuTseteT
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O None of the aboveIWIgd &§ I Hﬁ‘&g el

Correct: +4

19 The addition of HCN to a carboxyl compound is an example of
HraiTe AMfh H HCN BT ANTIeTD fhHHT ISR 3

O Nucleophilic substitution & g! TR

O Electrophilic additionSdae 1G] ANTTHD

O Nucleophilic addition @G A THD

O Electrophilic substitutionSeidgA&Ig! Ui

O None of the aboveIWRIad & I a’ﬁ'ﬁt To!

Correct: +4

20 In which of the following hemolytic bond fission takes place
Frofife # @ foud ffafes dy faws giar e

O Alkaline hydrolysis of ethyl chlorideUfId FARISS B &RIT GRS TN

O Addition of HBr to double bondfg §¢ & HBr &1 INTT&®

O Photochlorination of methane™dH &1 BICIFARIBIUT

O Nitration of benzenesSie &1 ATSCR

O None of the aboveIWIgd & I aﬁs‘ el
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Cyclobutadien

BIEESICUSIES]

The products formed are ions

S 9ol SdTE AT BId &

Heterolytic fission

fqua faga

More than one of the above

S 8 9 T I 31t

A reagent which attacks on electron — deficient site in a molecule

T 3if¥ebtie Sl 310] H Selagi=-hH! dTel R TR §Hal PRl o

E-effect

E-UHIq

None of the above

EREECIER ]

Hyperconjugation effect

ST Uy

Download The rasayanam APP @

. . . http://on-app.in/app/home?orgCode=wnoqi
GOC - Multiple Choice Questions - Answers & Page 12 of 16


http://on-app.in/app/home?orgCode=wnoqi

9 3°>2°>1°>CH;y"

10 CH,CH,

11 p—NOZ—C6H4—CH2+

12 (CH,),C>C,H,CH, >CH, =CHCH, >(CH,) CH

Electron deficient but neutral
13
TGS DI HH! aTdl Afdp IaRT

Dehydration of ethanol
14
ST BT FofediaRur

o—Elimination reaction
15
a-fqaiu= sifferar

All of the above
16
IWRIad ot

Hyper conjugation effect
17

S UHTd

3—Chloro—2, 3—dimethylpentane
18

3-FARI-2, 3-SRHYEAUCH

Nucleophilic addition
19
NS ANTHD
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Photochlorination of methane
20
T BT BIcIFARIHIBRO
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